
[image: ]



[image: ]
	

[image: ]

[image: ]


[image: ]


[image: ]


[image: ]


[image: ]


[image: ]


[image: ]

image8.jpg
o

[ 4= 9)-%) 309
(-

= (,’,3 M
(o s* Mi
JHyET

= T 69 A
3

5| d="
0 = 38% J%Ygzxguh Ll
e #

Guoz 321 gh
b= V%9 A
32
1l g bee = 2920
AN

v 1(; 3 ”[‘% ;) By

9 (20

Pyt B L
(7, /H( ’ W/ M'
I
ol C )

= My A

¥4, 9





image4.jpg
114

%"‘,‘ 3,800 = 1,650 g0 m
W 3px Lbton = s |
Wiliinwz  3,x (650 02 2 336,080 |my
Neke  Ga® Iyt = PHOPYD My
20kye =1, 2006 = o oo
N = ‘i;‘ foope = detesm M
toni £ NgRL = 2452 Yo ut
Ty = w
T xapoom = 6T m
v
TR
gl e
Ag o= Tartl =153 e
2L - pbx g
A
) ‘%‘iwr +Ea e
P d
(o4 jemm Ll
fijy 20 =2
i 20 x4y = 27k 0
Arte: o 2B e Py
Foel A Sha |
4
e 4
oS P
b ooy b= hxeals e
Mee oy O = 2ol = 2o s
k] owea= fbotTze - €v |4





image6.jpg
1]

“) SOt ln{#yLv)

w? PISETY

al

Mzu osbotbo=12e A
E)G}xwmw 26—k (2onl0)6e M
= 3ow —orn —APEED |
vom o
Tovo.
g lokas i
gafth (yuum»r}x(tix'wxéufx)i My
( spop 16— 600>
T U L
?L Kw,\mj) (L 1ex e gﬂz .
(-9 = 1830 eam®
ok = 1826+ Bblb T
o gl lpom® A
o nodel clem G0kt Bl
b s
vl e [or [ [ 24
O e T T i et |61
TH . 9% w !
=3
caq M i
idiain - 551 = 6o 13 o
o0 wF ] hape 'y




image5.jpg
bES

g beTe2s”
i ikteessf (s alfee <l ymay|
b) qo BER= T
L pobtetsd by dianelis by,
9 Acss 26
B gl 9 nclec A e
d) al'- ke
g oot b e
dusd < il Pevingliy
€) on =5
o fbtss] at a2
B g ol [
Coveumfireele

gt PF

w1 [ 2o e [1e 65
PO 2 A I e e 2

At = ({525 £ aas HS A Bacas
= £6i2L 54 unihs gl

9 /(;_’a)“

A
3 ;.
T 3FFY i
5
(- (5 i
H s s g | A
o Sehosear= s
ﬂ‘,ﬂ»m‘q’:é
7 [

/f}/ywxm = goae] h

Ba- A alt
Bifer




image2.jpg
| | e |
I I I
EJ = = T
v i
B == | =i
< |
=
1 |
S |
= =
== ‘ e
=
B Fi
I i i
| I e





image9.jpg
2

ag lhgon
s 8

(i)t
gree &)

b jiem - b5
< Tfm

1680y (yfaes) — 16k Y ~a(yrasey)

1oy 33000 ~ L6k00 = 2740

2ty - 3aboese = o
SR VRN

yreey

e -2 sfopeop lasree
2o lpemt S

=

= Reub bR

leres =g [y

Pk 2w

16 = l2e
y= 2o ~
O g g = 210 i

Aa% ien
T -
-2l / i





image3.jpg
A .
—ONTUNDN SUBCOUNTY  EVALVATION BXAM  Pd o
o9

MATHE jaulf

[

51 x57¢e0
Slao1t

(37

by X4S i
= B LS e My
< 50,000 Al
&)
(h-2) 150 = 2580 M
|Qom ~ B = 299
Jeon = 22rvpdbo =220 s
g T (
aggh 360 - a9 il
1% @
27~7C:L
Y3+ E
yrar=g = y= €2
g-2e = 3t M
- 51765 -5, ¥=2
ay-a= b2 YTk
fuik of iwkerkins= (1% A
fredivnt of e £33 =k o
eV
[ S
o
oge 7]
Gthx
3 #

@]





image1.jpg
H Lk e Trx I
’bﬁrﬁ "
il B
=3
T prhx
L Sy ]
“Myre-3
e, &
“Bixe-n 4
5 i
3
Sy T 8§ @&
BrE-®
O-BEFD s
H T o [
@ e &)
g = e
=5 -(x): (D) It
3-e ‘
s, S o
3
€| 10800 XT3eggaac = 734 a0
100 X062 F32= Casgane |y,
T334 €266 20 204000 iy
® 47,3 k0 i
&





image10.jpg
7] i @3y )Jlr o)

M
den 2y Xy T3y

2 (-39) eyl o

@3 (et

(e (x39)
% £s
B

4
S 5y =500
Sorisg= Eo
= -5y = -lee L
g= e

€ = ev ] il

A flo1d Gimr
o ohs mj &
3

q| Texis 4 2

25511 @ 30" My
2541 4 2(7307) L
2544 + 10°6) m
- s i
P





image7.jpg
o 10 = e
fin 10 4

k= botangr = 2239+ L
Famt = 2300 it
B
A= gp2 4
A g dpecint _gp 2
3
W| v =
e [
Ll = 375 -
]
Yy g
e i
¥ = 65 b
| 2
18 g
™
h
B3
B #h-e=1 »
e 4b- (1obta)
o+l 0b— &=t
' g-b=s My
b= 2 |
a=T M=T1 A





